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Graghing Linear Equaions

¢t reall 2 forms for linear equaions:
* Slope - Infercept fim Y mx-+b — best Jor gmphing
¢ Standard fom © AX+by=¢

=MX+b
M= Slope, b= yrintercept,

Gm‘oh Lines.

-l _ “4x—by = If
@ g_2x+_’]_ @ -3)(—63 = 1¢ Mx'é}qu)‘ﬂ?

~“fy=4x+¢
g % x
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(new| Solving Systems of Equations (Gmphicaly)

f system of equadions s & set or (ollect; eq ations that
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Let's consider the 2 Holbwing equations.

= y=3x-2
= Y=x-b
1) Car h the 2 enuations. i
QA
2 Do y ifex G}: 7 ¥fov, where?
(F11=5).

Basic ldea. of Solving System of Linear E quations

Wéval s 1o find fhe olrrl:’dnocf marks the Ifercection of fhe 2 lines. The
Jdrm urriersedvs e gash is the soluction {othe sysem of linenr
uaehions,

[‘f)ﬂmpleﬂ Find fhe soluhm h:ne systom. H_z;i )

Soludim: (3,0)
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Let's onsider the 2 equadions : /
=T
GCraph the 2 uw(hims /
2 Do+ﬁe\|4 inteect” if 50, where?
They do not inersect: /
\Nhy dothey not- itersect? Whack do the A

@m\ans have in common?
? s have The same. Slope, This
Lines"will never cross & will yemain pmmllel

Let's consider the 2 equoanws:

o= \j =3x-2.
- Y=3x-2

GCraph the 2 uwrhms
B ool Mol o hr? /

The 2 lines lrﬁrersf(t
a% every PDI o the

Iine.

Why do ‘Hne inersect at 8oy p 0|r\’c7 What do the

2e uad\ons hawe m common ?

The’ 2 eque %ons e Fhe same Slope and same y-interept,

Smae ﬁn ey art the e @ uﬂms the 2 lings lie on fop
v e@eqm bhoving, 41 g0z, amgurk. a4 mmé o



There are 3 ossible ludims i Slving systems,

CASEA 1 solution CASER No Soluhvon CASEC Infinke
Amouat of

W A, N
AR 4 N

(V\/de ot Soleton)  (Incongistent- Soehon) (Dq:eno\cnr Colichon)

> different shopes L> same s[ope Lsame. equations
[WmPlf@ Solve fhe sustem.
y=-x-2 =
= é—x+3 =
\>/ Check answer:  (-3,1)
7("3/ Ej—,ﬂ_
1=-(D-2 1= 2(3)+3
1:=3-2 3
/ \ 1= 1‘/ 1=-2+3
N 10

Soludion (-3,2)
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(More Examples] Determine whether the odered pair (s a solefion. of the systam.
Ixt2y =4 (2-1).

'X+35 --5

3(@2)+2(-l)=4 —(L)+3(-_1)-§5
+72=4 -2+3 =-
4 =4/ -5 =5/

(2)-1) is the Shedonto the system.

This was created by Keenan Xavier Lee, 2015. See my website for more information, lee-apcalculus.weebly.com.



